
Hearthstone Quality Home Heating Products, Inc ® 4/10/2013  Craftsbury Model 83911

Craftsbury
Model 8391

     Illustrated Parts List
Production Dates:  April 2013 - 

Serial #:  00700 - 



Hearthstone Quality Home Heating Products, Inc ® 4/10/2013  Craftsbury Model 83912



Key  Part #  Description
1 2310-910 Ash Pan Frame
2 2310-916 Ash Pan Door
3 2310-920 Bottom
4 2310-925 Ash Grate Base
5 2310-927 Ash Grate
6 2310-930 Ash Lip
7 2310-941 Side
8 2310-950 Back
9 2310-955 Left Inner Panel
10 2310-957 Right Inner Panel
11 2310-960 Primary Air Plenum
12 2310-971 Front
13 2310-976 Door
14 2310-980 Secondary Air Riser
15 2310-985 Secondary Air Plenum Bottom
16 2310-987 Secondary Air Plenum Top
17 2310-990 Flue Collar Adaptor 
18 2310-996 Top
19 2310-584 Flue Collar Base
20 4700-0820 Round Spacer
21 5012-066 Bushing
22 5390-010 Ash Pan
23 5390-040 Air Control Handle
24 5390-045 Air Control Handle Plate
25 1-0300-900 Rear Refractory Stone
26 1-0400-700 Bottom Refractory Stone
27 5390-075 Safety Rating Tag Hanger
28 3300-677 Safety Rating Label
29 5390-070 Baffle Support
30 3120-390 Ceramic Baffle Board
31 5390-080 Heatshield
32 5390-061 Secondary Air Pipe #1
33 5390-062 Secondary Air Pipe #2
34 5390-063 Secondary Air Pipe #3
35 3110-051 1/2" Gasket Rope, Low Density
36 3110-056 1/4" Gasket Rope

Replacement Kits

Key  Part #  Description
37 93-73900 Front Door Latch Kit
  4500-2975 Set Screw

4700-0790 Door Latch Spacers
  5010-081 Crank Handle
  5021-032 Flat Washer
  5240-0138 Latch Spring
  5390-051 Door Latch

38 93-71910 Front Door Handle Kit
  3900-177 Wooden Handle

4500-1682 Round Head Screw 1/4-20x3-3/4”
  4600-0400 Lock Washers
  5391-085 Handle Extension

39 93-71915 Ash Door Handle Kit
  3900-177 Wooden Handle

4500-1359 Pan Head Screw 1/4-20x3/4”
4500-1680 Round Head Screw 1/4-20x3-1/4”

  4600-0300 Flat Washer
  4600-0400 Lock Washers
  4700-0850 Spacer
  5240-147 Disc Spring

5391-021 Ash door handle lever

40 93-71918 Ash Door Latch Kit
  4300-0000 Roll Pins

4500-1876 Pan Head Screw 1/4-20x1/2”
4500-4680 Flat Head Screws M6x10mm 

  5240-154 Latch Spring 
5391-031 Ash Pan Door Latch

41 93-58905 Door Glass Kit
  3030-047 Door Glass

3110-053 3/16” Gasket Rope, Low Density
  5021-060 Glass Clips

3120-021 Glass Clip Gaskets
4500-4603 Flat Head Screws M4x10mm

93-58900 Gasket Kit
3110-051 1/2” Gasket Rope, Low Density
3110-053 3/16” Gasket Rope, Low Density
3120-021 Glass Clip Gaskets

  99-090N Gasket Glue

Hearthstone Quality Home Heating Products, Inc ® 4/10/2013  Craftsbury Model 83913



Key  Part #  Description
1  2310-910 Ash Pan Frame
2  2310-916 Ash Pan Door
3  2310-920 Bottom
4  2310-925 Ash Grate Base
5  2310-927 Ash Grate
6  2310-930 Ash Lip
7  2310-941 Side
8  2310-950 Back
9  2310-955 Left Inner Panel
10  2310-957 Right Inner Panel
11  2310-960 Primary Air Plenum
12  2310-971 Front
13  2310-976 Door
14  2310-980 Secondary Air Riser
15  2310-985 Secondary Air Plenum Bottom
16  2310-987 Secondary Air Plenum Top
17  2310-990 Flue Collar Adaptor Ring
18  2310-996 Top
19  2310-584 Flue Collar Base
20  4700-0820 Round Spacer
21  5012-066 Bushing
22  5390-010 Ash Pan
23  5390-040 Air Control Handle
24  5390-045 Air Control Handle Plate
25  1-0300-900 Rear Refractory Stone
26  1-0400-700 Bottom Refractory Stone
27  5390-075 Safety Rating Tag Hanger
28  3300-677 Safety Rating Label
29  5390-070 Baffle Support
30  3120-390 Ceramic Baffle Board
31  5390-080 Heatshield
32  5390-061 Secondary Air Pipe #1
33  5390-062 Secondary Air Pipe #2
34  5390-063 Secondary Air Pipe #3
35  3110-051 1/2" Gasket Rope, Low Density
36  3110-056 1/4" Gasket Rope

Replacement Kits

Key  Part #  Description
37  93-73900 Front Door Latch Kit
  4500-2975 Set Screw
  4700-0790 Door Latch Spacers
  5010-081 Crank Handle
  5021-032 Flat Washer
  5240-0138 Latch Spring
  5390-051 Door Latch

38  93-71910 Front Door Handle Kit
  3900-177 Wooden Handle
  4500-1682 Round Head Screw 1/4-20x3-3/4”
  4600-0400 Lock Washers
  5391-085 Handle Extension

39  93-71915 Ash Door Handle Kit
  3900-177 Wooden Handle
  4500-1359 Pan Head Screw 1/4-20x3/4”
  4500-1680 Round Head Screw 1/4-20x3-1/4”
  4600-0300 Flat Washer
  4600-0400 Lock Washers
  4700-0850 Spacer
  5240-147 Disc Spring
  5391-021 Ash door handle lever

40  93-71918 Ash Door Latch Kit
  4300-0000 Roll Pins
  4500-1876 Pan Head Screw 1/4-20x1/2”
  4500-4680 Flat Head Screws M6x10mm 
  5240-154 Latch Spring 
  5391-031 Ash Pan Door Latch

41  93-58905 Door Glass Kit
  3030-047 Door Glass
  3110-053 3/16” Gasket Rope, Low Density
  5021-060 Glass Clips
  3120-021 Glass Clip Gaskets
  4500-4603 Flat Head Screws M4x10mm

  93-58900 Gasket Kit
  3110-051 1/2” Gasket Rope, Low Density
  3110-053 3/16” Gasket Rope, Low Density
  3120-021 Glass Clip Gaskets
  99-090N Gasket Glue

Hearthstone Quality Home Heating Products, Inc ® 4/10/2013  Craftsbury Model 83914


